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1. Show that each of the following functions are differentiable in the indicated domain of definition and find 
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By Couchy-Riemann equations for polar coordinates, the function is differentiable and
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2. Suppose that a function 
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3. Show that the following functions are entire
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4. Show that 
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5.  Let the function 
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which is the polar form of Laplace’s equation.
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6. Show that 
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b) the semicircle 
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c) the semicircle 
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Couchy-Riemann equations for rectangular coordinates:
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Let’s calculate these in polar form:
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Since these are equal:
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Since these are equal:
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